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h=-1; t=b.length;
while (h !=t-1) {
int e= (h+t)/2;
/l h<e<t
if (bl[e]<=v) h=¢;
else t=e¢;

}

h= -1; t= b.length - 1;
while (h I=1) {

}

To make sure that progress is made, b[e] has to be in ? section

9/29/15

b.length

pre:b

Case that ? has 1 element,

t=h+l
0 h t b.l..
b
(h+t)/2
= <t=h+l>
(2h+1)/2

Binary search
0

h b.length
post »
0 h t b.l.
b| <=y ? >v

h= -1; t= b.length - 1;
while (h !=1) {
int e= (h+t)/2;

= <arith: /is int division

h

In this case, e= (h+t)/2; setsetoh! b[e] notin ? section
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h=-1; t=b.length;
while (h !=t-1) {
int e= (h+t)/2;
/l h<e<t
if (bl[e] <=v) h=¢;
else t=¢;

h= -1; t= b.length - 1;
while (h I=1) {
int e= (h+t+1)/2;
//h<e<=t
if (b[e] <=v) h=¢;
else t=e-1;
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If b[e] > v, change t to point before b[e]




